
Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

55

55
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Old Style
Keeper Bumper  
For Outswing 
For 1-1/4" Sq. Post
Part No. 9HAP23

Old Style
Keeper Bumper  
For Inswing 
For 1-1/4" Sq. Post
Part No. 9HAP27

Old Style
Slide Bolt Latch 
(Surface) 3-1/2" 
Bet. Screws
Part No. 9HAP2o

Top and Bottom Hinge Set 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9HAH15

Cam Top
Part No. 
9HAH7

Bolt 
Part No. 
9HAH5

Door Insert 
Closure Cap
Part No. 
9HAH3

Top Hinge Pin
Part No. 9HAH11

A = 1-1/2"

Bolt Latch Slide Pin 
(Concealed) 
Part No. 9HACL5

Keeper Bumper 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 
9HACL1 Chrome Plated 
9HACL1SS Cast SS 

Hinge Pin 
3/8" Dia. 
3-7/16" Long
Part No. 9HAP30

Top or  
Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No.9HAP10

“U” Trim 
Door Insert
Part No. 
9HAP15

LAtch Cover & Knob 
Part No. 9AA104C

LAtch Cover & Knob 
Part No. 9AA104A

Top Hinge 
1-1/2 Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9AA112

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9AA113

Top Hinge 
1" Door Insert
Part No. 9AA132

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post
Part No. 9AA115

Hinge Pin 
3/8" Dia. 
3-7/16" Long
Part No. 9AA111

Bottom Hinge 
1" Door Insert
Part No. 9AA133

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4"  Rnd. Post
Part No. 9AA102

Keeper Bumper 
For 1-1/4"  Rnd. Post
Part No. 9AA105

A = 1-5/8"

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4"  Rnd. Post 
Part No. 9AA103

Hinge Pin 
5/16" Dia. 
2-13/16" Long
Part No. 9AA101

Current
Slide Bolt Latch
Part No. 
9HAP68 Cast SS 
1-1/2" W x 3-1/4" L 
2-3/4" hole spacing

Current
Aluminum 
Outswing Keeper Bumper

Screws Are Supplied with All Hardware

Side view of Hinge

Toilet Partition Hardware

Cam Set (Plastic)
Part No. 9HAP35

A = 1-11/16"

A = 1-5/8"

Coat Hook & Bumper

Part No. 
9HA426 Chrome Plated 
9HA426SS Cast SS

Current
Aluminum 
Inswing Keeper Bumper

NEXT DAY DELIVERY AVAILABLE
T

O
IL

E
T

 P
A

R
T

IT
IO

N
 Har




d
w

are




For use on Metal

Accurate – Chrome Plated Hardware

For use on Plastic Laminate

Cam 
Bottom
Part No. 
9HAH6

All American – Chrome Plated Hardware

Top and Bottom hinges are more easily identified 
by measuring the distance "A" on your hinge and 
comparing it to "A" next to the part.

! How to Identify Hardware

For use on Metal For use on Plastic Laminate

For Use On Both Metal & Plastic

Pintle 
1/2" Dia.
Part No. 
9AA108

Nylon Cam
Part No. 
9AA107

!
Brackets on 
page 66-67 

TYPE PART NO. FOR
Laminate 9HAP54 1-1/4"

Poly 9HAP56 1"
Phenolic 9HAP58 3/4"

TYPE PART NO. FOR
Laminate 9HAP55 1-1/4"

Poly 9HAP57 1"
Phenolic 9HAP59 3/4"

Slide Latch
Part No. 9A6983 Cast SS 
1-3/4" W x 1-1/2" L 
hole spacing

Keeper Bumper  
For inswing 
For 1-1/4" Sq. Edge
Part No. 
9A2353 Chrome

Keeper Bumper  
For Outswing 
For 1-1/4" Sq. Edge
Part No. 
9A2354 Chrome

Slide Bolt Latch
Part No. 9A2899 
1-1/2" W x 3-1/4" L 
2-3/4" bet. Screws

Turn Latch & Cover 
Part No. 
9HACL3A6N Chrome Plated 
9HACL3ASS6N Cast SS

Turn Latch & Cover 
Part No. 
9HACL36N Chrome Plated 
9HACL3SS6N Cast SS

Accurate Door Kit New Style

Used January 1 2013 to current. 
Includes all parts shown and security 
screws.

Part No. 9HACL505 Chrome Plated

A = 1-1/2"



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

56

56
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Pintle 
5/8" Dia. 
Part No. 9AM270

Inswing 
Coat Hook & Bumper 
Part No. 9AM325

A = 1-5/8"

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post

Part No. 9AM280 Chrome 
Part No. 9A3293 Cast SS

Top Hinge 
Door Escutcheon 
For 1" Thick Doors 
Part No. 9AM150

Outswing  
Coat Hook 
Double Prong 
Part No. 9AM350

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post

Part No. 9AM450

Keeper Bumper 
For Outswing 
For 1-1/4" Sq. Post

Part No. 9AM415

Coat Hook Double Prong 
Outswing 
3" Projection, 1-3/4" High 
Part No. 9G0161

Slide Bolt Latch 
2-3/4" Bet. Screws 
Part No. 9CP100

Coat Hook & Bumper 
Inswing 
Part No. 96200B

Door Stop 
Part No. 
9A0412

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
For 3/8" dia. Pin
Part No. 9C3610

Bottom Hinge 
For 1-1/4" Sq. Post 
Part No. 
9F0214NTop Pin (Metal) 

3/8" Dia. 
3-7/16" Long 
Part No. 9CP450

Top Hinge 
Door Escutcheon 
For 7/8" Thick Doors 
Part No. 9CP425

Nylon Cam 
Part No. 9CP375

Pintle 
1/2" Dia. 
Part No. 9CP350

Bottom Hinge 
Door Insert 
Part No. 9CP325

Keeper Bumper 
Outswing 
For 1-1/4" Sq. Post

Part No. 9A5970

Nylon Cam 
Part No. 9AM220

Toilet Partition Hardware

A = 1-5/8"

Slide Bolt 
Assembly 
2-3/4" Bet. Screws 
Part No. 9AM500

Pin (Metal) 
3/8" Dia. 
3-3/4" Long 
Part No. 9AM110

Keeper Bumper 
Inswing 
For 1-1/4" Sq. Post

Part No. 9A5980

AMPCO

American Sanitary

For use on Metal and Plastic Laminate

For use on Metal and Plastic Laminate

For use on Plastic Laminate

For use on Metal

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post

Part No. 9AM175 Chrome 
Part No. 9A3793 Cast SS

Bottom Hinge 
Door Insert 
Part No. 9AM240

Metal Only

Laminate Only

! Bobrick Available

Top Pin (Metal) 
3/8" Dia. 
3-5/8" Long 
Part No. 9AM125

NEXT


 D
AY

 D
EL

IV
ER

Y 
AV

AI
LA

BL
E

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are


 Screws Are Supplied with All Hardware

Side view of Hinge

Top and Bottom hinges are more 
easily identified by measuring the 
distance "A" on your hinge and 
comparing it to "A" next to the part.

! How to Identify Hardware

Top HInge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9C3503

A = 1-7/16"

Hinge Pin 
3/8" Dia. 
3-7/16" Long
Part No. 9CP450

Top HInge Casting 
Part No. 9C3513

Bottom Cam 
Housing 
Part No. 9C0140

Keeper Bumper 
Inswing 
For 1-1/4" Rnd. Post
Part No. 9A5580

Keeper Bumper 
Outswing 
For 1-1/4" Rnd. Post

Part No. 9A5570

Pintle 
5/8" Dia. 
Part No. 9C3006

Nylon 
 Cam 
Part No. 
9C3002

Bottom HInge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9C3004

A = 1-7/16"



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

57

57
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are




NEXT DAY DELIVERY AVAILABLE

Bottom Hinge 
For 1-1/4" Sq. Post
Part No. 9F0214N

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
For 7/16" dia. Pin
Part No. 9F0211N

Top Hinge 
Door Escutcheon 
For 1" Thick Doors 
Part No. 9F0316

Slide Bolt Assembly 
2-3/4" Bet. Screws 
9/16" Bar to Door Clearance
Part No. 9F0302

Rubber Only
Part No. 9F0380Keeper Bumper 

For Outswing 
For 1-1/4" Sq. Post
Part No. 9F0303

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post
Part No. 9F0304

Bottom Hinge 
Door Insert 
For 1" Thick Doors 
Part No. 9F0317

Pintle 
11/16" Dia. 
Part No. 9F0311

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9F0300 Chrome 
Part No. 9A3793 Cast SS

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9F0301 Chrome 
Part No. 9A3293 Cast SS

Toilet Partition Hardware

A = 1-5/8"
A = 1-11/16"

A = 1-11/16"

Strike/Keeper 
Inswing Aluminum 
6" High 
Part No. 9HSISA

Strike/Keeper 
outswing 
Aluminum 
6" High 
Part No. 9HS0SA

Slide LAtch 
Aluminum 
3-1/2" between 
screws 
Part No. 9HLSLA

Hinge Set 
Set of 2 hinges 
8" High. Instructions 
Included 
Part No. 9HHGB

ADA Hinge Set 
Set of 3 hinges 
8" High. Instructions 
Included 
Part No. 9HHGBADA

Replacement 
Hinge Inserts 
Part No. 9HHgb-Top 
Part No. 9hhGB- Bottom

Top

Bottom

Keeper Bumper 
Part No. 
9F0227

Comtec / Capital / Hiny Hiders

Fiat - Chrome Plated Hardware

! Brackets on 
page 66-67 

Flush Metal

For use on Metal
Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post

Part No. 9FL200

A = 1-7/16"

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9FL100

Nylon Cam 
Part No. 9FL225

Top Pin 
3/8" Dia., 3" Long 
Part No. 9FL125

Bottom Cam Housing 
Front
Part No. 9FL275 Unplated
Part No. 
9FL275CH Chrome plated

Latch Knob & Cover
(Concealed) 
Part No. 9FL325

Keeper Bumper 
For 1-1/4" Rnd. Post 
Part No. 9FL400

Coat Hook & Bumper 
Part No. 9FL450

A = 1-7/16"

Knob & Cover 
Part No. 9FL325A

Pintle 
5/8" Dia. 
Part No. 9FL250

Top Hinge Casting 
For use on metal.
Part No. 9FL265

!
Includes Pin 
When Ordering  

Specify Pin Type

(New) Part No. 92500B

Straight or Offset

Top Pin (Metal) 
3/8" Dia. 
3-7/16" Long
Part No. 9F0310

Top Pin (Metal) 
7/16" Dia. 
3-3/16" Long
Part No. 9F0207N

Nylon Cam 
Part No. 9F0312

Replacement Hinge inserts 
use with our hinges ONLY!

Replacement 
Intergral Hinge Set 
Part No. 9A7005

Latch Housing for 
concealed latch
(Unplated)

Part No. 9A6606

Comtec Outswing 
Flat Stop 
6" High 
Part No. 9A5898

Comtec inSwing 
Flat Stop 
6" High 
Part No. 9A5798



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

58

58
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Includes Pin 
When Ordering  

Specify Pin Type

a = 1-11/16"

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9FL600 Chrome 
Part No. 9A3793 Cast SS

A = 1-5/8"

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post

Part No. 9FL700 Chrome 
Part No. 9A3293 Cast SS

A = 1-5/8"

Nylon Cam 
Part No. 9FL725

Top Pin (Metal) 
3/8" Dia. 
3-1/2" Long 
Part No. 9FL625

Pintle 
15/32" Dia. 
Part No. 9FL750

Slide Bolt 
Assembly 
2-3/4" Bet. Screws 
Part No. 9FL800

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post

Part No. 9FL925

Keeper Bumper 
For Outswing 
For 1-1/4" Sq. Post

Part No. 9FL900

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 91000P Chrome 
Part No. 9A3293 Cast SS

A = 1-11/16"

Nylon Cam
Part No. 91002B

Pintle
11/16" Dia. 
Part No. 91006B

Bottom Cam 
Housing
Part No. 
91005B Unplated
Part No. 
91005BC Chrome Plated

Keeper Bumper 
For 1-1/4" Rnd. Post
Part No. 92060B

Keeper Bumper
For Inswing  
and Outswing 
For 1-1/4" Sq. Post 
Part No. 92560E

Latch Knob & Cover (Concealed 2 pin style)
Part No. 92500A

Bottom Hinge
1-1/8" Bet.Screws 
For 1-1/4" Rnd. Post
Part No. 96319A

Latch Knob 
(Concealed)
Part No. 96318AA Chrome 
Part No. 9HH111 Cast SS

Top Pin 
(Metal) 
3/8" Dia. 
3-3/4" Long 
Part No. 
91504B

Top Pin
3/8" Dia. 
3" Long 
For 91500B & 
91500P 
Part No. 91503B

Top Hinge
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 91500B

Bottom Hinge
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post 
Part No. 91000B

A = 1-5/8"

Top HInge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 91500P Chrome 
Part No. 9A3793 Cast SS

A = 1-11/16"

Slide Bolt Latch 
2-3/4" Bet. Screws

9/16" Bar to 
Door Clearance
Part No. 92000P

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post
Part No. 920601

Keeper Bumper 
For OutswingFor 
1-1/4" Sq. Post
Part No. 92060E

(New) Part No. 92500B

Straight or Offset

Bumper Keeper 
For 1-1/4" Rnd. Post
Part No. 9A5590

Top Hinge
1-1/8" Bet.Screws 
For 1-1/4" Rnd. Post 
Part No. 96320A

Top Pin
1/4" Dia. 
2-7/8" Long 
Part No. 96320B

Toilet Partition Hardware

Latch Knob & Cover
(Concealed) 
Part No. 92000C

Bottom Cam & 
Pintle 
Part No.96319E

Latch Knob
(Concealed) 
Part No. 96318A Chrome 
Part No. 9HH101 Cast SS

Latch Cover
(Concealed) 
Part No. 96318B Chrome 
Part No. 9HH201 Cast SS

a = 1-11/16"

Flush Metal (Continued)

For use on Plastic Laminate
Top Hinge 
Door Escutcheon 
For 7/8" Thick Doors 
Part No. 9FL650

Bottom Hinge 
Door Insert 
Part No. 9FL775

General

For use on Plastic Laminate

For Use on Metal

Older Style Newer Style

Latch Knob 
Part No. 92500C w/straight pin 
Part No. 9A8190 w/offset pin

Top Hinge Casting 
For Metal Doors
Part No. 9K0245

NEXT


 D
AY

 D
EL

IV
ER

Y 
AV

AI
LA

BL
E

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are






Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

59

59
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are




NEXT DAY DELIVERY AVAILABLE
Toilet Partition Hardware

Nylon Cam 
Part No. 9HH700

Bottom Hinge 
Part No. 9HH500

Top Pin 
Part No. 9HH400

Toggle & Screw 
For Hinges 
Part No. 9HH450

Keeper Bumper 
For 1-1/4" Rnd. Post

Part No. 
9HH800 Chrome 
9HH810 Cast SS

Top Hinge 
Part No. 9HH300

Wrap Around  
Top Hinge 
For 1-1/4" Rnd. Post
Part No. 
9HH350 Chrome 
9HH360 Cast SS

Slide Bolt Latch 
2-3/4" Bet. Screws
Part No. 
9HH125 Chrome 
9F0302SS Cast SS

Lower Door 
Casting 
Part No. 
9HH525 Unplated

Part No. 
9HH526 Cast SS

Pintle 
1/2" Dia. 
Part No. 9HH600

Latch Knob 
Part No. 
9HH100 Chrome 
9HH101 Cast SS 

Upper Door 
Casting 
Part No. 
9HH325 Unplated

Part No. 
9HH326 Cast SS

Latch Knob & Cover
(Concealed)
Part No. 9G0139 - Chrome Plated
Part No. 9A6148 - Cast SS

Keeper Bumper 
For 1-1/4" Rnd. Post
Part No. 9G150C

Slide Bolt Latch 
(Surface) 3-1/2" Bet. Screws 
5/8" Bar to Door Clearance 
Part No. 9G0136

Slide Bolt Latch 
With 3/8" Door to 
Offset Bar Clearance 
Part No. 9G0137

Keeper Bumper 
For Outswing 
For 1-1/4" Rnd. Post

Part No. 9G015E

Keeper Bumper 
For Inswing 
For 1-1/4" Rnd. Post

Part No. 9G0151

Pin 
3/8" Dia. x 3" Long
Part No. 9G2252

A = 1-7/16"

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9G0225

Bottom Cam 
Housing)
Part No. 
9G0240 unplated
Part No. 
9FL275CH 
Chrome Plated

Pintle 
5/8"
Part No. 9G0237

Nylon Cam
Part No. 9G0232

A = 1-7/16"

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9G0230

Top Hinge Casting
Part No. 9G0220

Latch Knob & Cover
(Screw Fastened/Concealed) 
Part No. 9G0139S

Cam Set (Plastic)
Part No. 9G631E

“U” Trim 
Door Insert
Part No. 9G631B

Top or Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9G631A

(New)
latch Cover & Knob 
Part No. 9G631F

Keeper Bumper 
For Inswing and Outswing 
For 1-1/4" Sq. Post
Part No. 9G631H

Bumper
Latch Keeper
See Accurate for replacement

Hinge Pin (Metal) 
3/8" Dia. x 3-7/16" Long
Part No. 9G631C

Global - Chrome Plated Hardware

For use on Metal

Latch Knob & Cover 
(Screw fastened) 
Part No. 9G0139AS

Latch Knob & Cover 
Part No. 9G0139A - Chrome Plated
Part No. 9A6158 - Cast SS

For use on Plastic Laminate

Hadrian - Chrome Plated Hardware
Wrap Around 
Bottom Hinge 
For 1-1/4" Rnd. Post
Part No. 
9HH550 Chrome 
9HH560 Cast SS 

Latch Knob 
Part No. 
9HH110 Chrome 
9HH111 Cast SS

Latch Cover 
Part No. 
9HH200 Chrome 
9HH201 Cast SS

Includes Pin 
When Ordering  
Specify Pin Type

Straight or Offset

Top Pin (Metal) 
3/8" Dia. x 3-3/4" Long 
Part No. 9G2253



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

60

60
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Toilet Partition Hardware

Bottom Housing 
Part No. 9K1340

Bumper Keeper 
For 1-1/4" Sq. Post

Part No. 9K1152

Bottom Cam 
Part No. 9KCAMP

Bottom Cam Housing 
Part No. 9K0340 
Not Plated

Door Strike & Keeper 
For 1-1/4" Rnd. Post

Part No. 9A5590

Top Pin (Plastic) 
1/4" Dia. x 2-3/4" Long 
Part No. 9K241M

Door Latch Inside 
Mechanism–KIT 
Part No. 9K0253

Pintle 
9/16" Dia. 
Part No. 9K0231

Top Hinge 
1-1/8" Bet. Screws 
For 1-1/4" Rnd. Post

Part No. 9K0240

A = 1-11/16"

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post

Part No. 9K1230

A = 1-11/16"

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9K1240

A = 1-11/16"

Bottom Cam 
Part No. 9KCAMM

Top Pin 
1/4" Dia. X 2-7/8" Long 
Part No. 9K241P

Bottom Hinge 
1-1/8" Bet. Screws 
For 1-1/4" Rnd. Post 
For 9KCAMM & 9K0231

Part No. 9K0230
A = 1-11/16"

Latch Knob 
(Concealed) 
Part No. 9K0250

Latch Cover 
(Concealed) 
Part No. 9K0255

Knickerbocker - Chrome Plated Hardware

For use on Metal

For use on Plastic Laminate

For use on Plastic Laminate and Metal

Latch Knob & Cover 
(Concealed) 
Part No. 9K0250A

Slide Bolt Latch 
2-3/4" Bet. Screws 
Part No. 9CP100

Keeper Bumper 
For Outswing 
For 1-1/4" Sq. Post

Part No. 9CP200

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post

Part No. 9CP250

Bottom Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9CP300

Top Hinge 
1-1/2" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9CP400

a = 1-9/16"a = 1-9/16"

Top Hinge 
Door Escutcheon 
For 7/8" Thick Doors 
Part No. 9CP425

Nylon Cam 
Part No. 9CP375

Pintle 
1/2" Dia. 
Part No. 9CP350

Bottom Hinge 
Door Insert 
Part No. 9CP325

Top Pin (Metal) 
3/8" Dia. 
3-1/2" Long 
Part No. 9CP450

METPAR

For use on Plastic Laminate and Metal

Top Hinge Casting 
For Metal Doors
Part No. 9K0245

Bottom Cam & Pintle 
Part No.9K0231N

NEXT


 D
AY

 D
EL

IV
ER

Y 
AV

AI
LA

BL
E

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are






Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

61

61
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are




NEXT DAY DELIVERY AVAILABLE

METPAR (Continued)

For use on Metal

New Style 
Slide Bolt/Latch 
(Concealed)
Part No. 90T290

Latch / Keeper 
Bumper Kit
Part No. 90T390

Keeper Bumper 
(18 GA.) 
1-5/8" Bet. Screws
Part No. 90T316

Coat Hook & Bumper 
3-3/8" Projection 
2-3/4" High
Part No. 90T285

Top & Bottom Hinge 
1-3/8" Bet. Screws
Part No. 90T100-110

Keeper Bumper 
(Porc.)
Part No. 90T317

Slide Bolt/Latch 
2-3/4" Bet. Screws 
3/8" Bars to Door 
Clearance
Part No. 90T160

Bumper Keeper
Part No. 90T120

Keeper Bumper
Part No. 90T116

Nylon Cam 
Pintle Combination 
Part No. 9C0235

Keeper Bumper 
For 1-1/4" Rnd. Post

Part No. 90C410

Slide Bolt Latch 
Part No. 90C400

Latch Cover & Knob 
(Concealed) 
Part No. 90C300

Latch Cover & Knob 
Part No. 90C300A

Top Pin (Metal) 
3/8" Dia. 
3-3/4" Long 
Part No. 9C3505

Top Pin (Metal) 
3/8" Dia. 
3" Long 
Part No. 9C3504

Top HInge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9C3503

A = 1-7/16"

Top HInge Casting 
Part No. 9C3513

Bottom Cam 
Housing 
Part No. 
9C0140 Unplated

Part No. 
91005 BC 
Chrome PLated

Nylon Cam 
Part No. 9C3002

Toilet Partition Hardware

Pintle 
5/8" Dia. 
Part No. 9C3006

Bottom HInge 
1-1/2" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9C3004

A = 1-7/16"

MILLS - Chrome Plated Hardware

If in Doubt Please Send a Sample?

Visit Our Website 
or Call 

[800] - 642 - 2403 
for Free Color Charts



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

62

62
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Latch Knob
Latch Cover

Keeper Bumper 
For 1-1/4" Rnd. Post
Part No. 9S8801

Bottom Power Bearing 
(Concealed) 
For 9S5862 & 9S7770
Part No. 9S7961

Plastic Pin 
For 7361, 5861 & 7780 
3/8" Dia. 
2-1/2" Long
Part No. 9S7774

Slide Bolt/Latch 
2-5/8" Bet. Screws
Part No. 9S7431

Keeper 
For Latch 
2" Bet. Screws
Part No. 9S2401

Bumper 
For Latch 
2" Bet. Screws
Part No. 9S2400

A = 1-9/16"

Bottom Hinge 
1-1/4" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9S7770

a = 1-9/16"

Top Hinge 
1-1/4" Bet. Screws 
For 1-1/4" Rnd. Post
Part No. 9S7780

Top Hinge Casting 
For Metal Doors
Part No. 9S8044

Obsolete 
Top Hinge 
Replaced with
Part No. 9S7780

Obsolete 
Bottom Hinge 
Replaced with
Part No. 9S7770

Obsolete 
Top Hinge 
Replace with
Part No. 9S7361

Obsolete 
Bottom Hinge 
Replace with
Part No. 9S7360

Post Toggle & Screw 
Part No. 9S5860

Bottom Hinge 
1-1/4" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9S7360

Top Hinge 
1-1/4" Bet. Screws 
For 1-1/4" Sq. Post
Part No. 9S7361

Keeper Bumper 
For 1-1/4" Sq. Post 
Part No. 9S8861

Latch Pin

Latch Knob, Cover & Pin Kit  Part No. 9S8819

Toilet Partition Hardware

Bottom Power Bearing 
(Concealed) 
For 9S7360
Part No. 9S6100

A = 1-1/2" A = 1-1/2"

Stop 
1-1/2" Bet. Screws
Part No. 9S2704

Sanymetal – Chrome Plated Hardware

For use on Metal

Keeper Bumper 
For Inswing 
For 1-1/4" Sq. Post
Part No. 9S410T

Throw Latch 
3-1/2" Bet. Screws
Part No. 9S7531

Keeper 
1-1/2" Bet. Screws
Part No. 9S2701

For use on Plastic Laminate and Metal

! Brackets on 
page 66-67 

Coat Hook & Bumper 
1-1/8" bet. Screws
Part No. 9S7810

Coat Hook & Bumper 
7/8" bet. Screws
Part No. 9S6810B

Top Door Hinge 
Esctcheon
Part No. 9S6101

Notched

Latch Knob & Cover Part No. 9S8820

Stainless Steel Latch Knob, with screw, Cover & Pin: Part No. 9S8821

Latch Knob Latch Cover Latch Pin

NEXT


 D
AY

 D
EL

IV
ER

Y 
AV

AI
LA

BL
E

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are






Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

63

63
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

NEXT DAY DELIVERY AVAILABLE
T

O
IL

E
T

 P
A

R
T

IT
IO

N
 Har




d
w

are




Door Handles – Chrome Plated

Common Toilet Partition Hardware

Throw Latch 
Chrome Plated Brass 
3-1/2" Bet. Screws

Part No. 9S7531

Heavy Duty Throw 
Latch With Keeper 
Chrome Plated Brass
Part No. 9S5701

Inswing Latch & Strike 
Stamped Stainless Steel 
Can be used for outswing 
if door and post are equal.
Part No. 9A0104

Latch & Keeper 
Stamped Stainless Steel

Part No. 9A0106

SLIDE BOLT LATCH 
 2-3/4" Between Screws 
3/8" Bar to Door Clearance

Part No. 90T160 - Chrome

Part No. 9A5033 - Cast  
             Stainless Steel

SLIDE BOLT LATCH 
3-1/2" Between Screws 
3/8" Door to offset bar 
clearance

Part No. 9G0137 - Chrome

Part No. 9A5063 - Cast  
             Stainless Steel

Stainless Steel 
1-7/8" Between Screws 
1/8" Bar to Door Clearance
Part No. 9A7055
* See Stainless Steel 
section for Keeper/stop

SLIDE BOLT LATCH 
Aluminum 3-1/2" 
Between Screws

Part No. 9HLSLA

SLIDE BOLT LATCH 
 Aluminum 3-1/2" 
Between Screws

Part No. 9A0102

Slide Bolt Latch 
2-5/8" Bet. Screws
Part No. 9S7431

Latch with Keeper 
Indicator an Door Pull

Part No. 9A6069

ADA Door Pull 
3" High x 5-1/8" Long

Part No. Material
9A6251 Chrome Plated Brass
9A0625 Cast Stainless Steel

Coat Hook & Bumper 
3-1/2" Projection 
2-3/4" High 
Part No. 9G0160

Coat Hook & Bumper 
3" Projection, 
2" High 
Part No. 9S7810

Coat Hook & Bumper 
2-3/4" Projection, 
2-1/4" High 
Part No. 9HH900
Part No. 9HH900SS - Cast SS

Coat Hook & Bumper 
3-1/8" Projection, 
2-1/8" High 
Part No. 96200B

Coat Hook Double Prong 
3" Projection, 
1-3/4" High 
Part No. 9G0161

Door Stop 
2" High 
Part No. 9A0412

Door Stop – Pilaster Mounted 
2-1/2" High x 4-1/4" Long

Part No. Material
9A4151 Chrome Plated Brass

SLIDE BOLT ASSEMBLY 
2-3/4" Bet. Screws 
9/16" Bar to Door Clearance

Part No. 9F0302 - Chrome

Part No. 9F0302SS - Cast  
             Stainless Steel

SLIDE BOLT LATCH 
3-1/2" Between Screws 
5/8" Bar to Door Clearance

Part No. 9G0136 - Chrome

Part No. 9A5053 - Cast  
             Stainless Steel

Door Pull 
3-1/2" Bet. 
Centers 
Part No. 9HH000

Door Pull 
4" Bet. Centers 
Part No. 9A0171

Door Pull 
2-5/8" Bet. 
Centers 
Part No. 9A7401

Door Pull 
2-3/4" Bet. 
Centers 
Part No. 9A0620

Door Pull 
3-1/2˝" Bet. 
Screws 
Part No. 9A0540

ADA* Latches for use with lift type keeprs

Fasteners Included – Chrome Plated Zamac Unless Indicated

Coat Hooks and Door Stops

ADA* Door Pull

Part No. Edge Type & DOOR SWING
9A1116 Round Edge Inswing
9A1117 Round Edge Outswing
9A1118 Square Edge Inswing
9A1119 Square Edge Outswing

Chrome Plated ZamacConcealed Latch Fix it Kits 
To cover up Concealed Latch Holes

•	 For Powder Coated Steel & Plastic Laminate Doors 
•	 For 1" Thick Doors - Round Edge for Powder Coated 
•	 Steel and for 1" Square edge for Plastic Laminate 
• For 1-1/4" Pilasters 
• All Hardware included 
- SlideBolt Latch 
- Inswing or Outswing Hardware(Keeper Bumper) 
- Stainless Steel "U" Shape cover for both sides of door 
- All Screws Included

Latch Slide w/ keeper & 
Indicator for 1" Thick Doors
Part No. 9A4778 - Satin Finish

Part No. Edge Type & DOOR SWING
9A1122 Round Edge Inswing
9A1123 Round Edge Outswing
9A1120 Square Edge Inswing
9A1121 Square Edge Outswing

Stainless Steel

Slide Bolt Latch 
with Indicator for 
1`" doors 
2-3/4" bet. Screws
Part No. 
9G2000 Cast SS

Slide Latch
Part No. 9A6983 Cast SS 
1-3/4" W x 1-1/2" L 
hole spacing

Slide Bolt Latch
Part No. 9A2899 
1-1/2" W x 3-1/4" L 
2-3/4" bet. Screws

* Please check with your local code 
    to verify ADA requirements.!



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

64

64
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Round Barrel
Material Door Swing Part No.
Chrome 

Plated Brass
For Right Hand 
Outswing or Left 
Hand Inswing 

9A70B1

For Left Hand 
Outswing or Right 
Hand Inswing

9A70B2

Stamped 
Stainless 

Steel

For Right Hand 
Outswing or Left 
Hand Inswing

9A7043

For Left Hand 
Outswing or Right 
Hand Inswing

9A7033

Stamped 
Stainless 

Steel

For Right Hand 
Outswing or Left 
Hand Inswing

9A7103

For Left Hand 
Outswing or Right 
Hand Inswing

9A7093

Square Barrel
Material Door Swing Part No.
Stainless 

Steel
For Right Hand 
Outswing or Left 
Hand Inswing 

9A7051

For Left Hand 
Outswing or Right 
Hand Inswing

9A7052

Supplied with fasteners 
for 1" doors & 1-1/4" post.

Others screws available.

Top Part Assembly
Part No. 9A3020 Chrome 
Part No. 9A3023 Cast SS

Common Toilet Partition Hardware

7/8" Thick Doors 1-1/4" Thick Pilasters

Bottom Part Assembly
Part No. 9A3010 Chrome 
Part No. 9A3013 Cast SS

Bottom Part Assembly
Part No. 9A3710 Chrome 
Part No. 9A3033 Cast SS

Top Part assembly
Part No. 9A3720 Chrome 
Part No. 9A3043 Cast SS

Part No. DOOR SWING LENGTH
9A70C1 RH-OUT, LH-IN 57-1/2˝
9A70C2 LH-OUT, RH-IN 57-1/2˝
9A70C4 RH-OUT, LH-IN 54˝
9A70C5 LH-OUT, RH-IN 54˝

16 Gauge - 1/8" Pin 
54" & 57-1/2" lengths 

with Spring Close

Part No. DOOR SWING LENGTH
9A70C3 ALL 57-1/2˝

Without Spring Close

Square Edged Wrap Around Hinge Sets

Fasteners Included, Chrome Plated Zamac Unless Indicated

ADA Continuous Piano and Full Length Surface Mounted Hinges

Surface Mounted Hinge Sets (Upper and Lower)

Can be Raised up 3/8" for Emergency Entry

Medium Duty Heavy Duty

1" Thick Doors 1" Thick Pilasters 1" Thick Doors 1-1/4" Thick Pilasters

Top & Bottom Part Assembly
Part No. 9A3780 Chrome 
Part No. 9A3153 Cast  SS

Round Barrel
Material Door Swing Part No.

Cast 
Stainless 

Steel

For Right Hand 
Outswing or Left 
Hand Inswing 

9A7ss1

For Left Hand 
Outswing or Right 
Hand Inswing

9A7SS2

Part No. LENGTH
9A7789 57-1/2˝
9A7599 54-1/2˝

14 Gauge - 1/4" Pin 
54-1/2" & 57-1/2" lengths 

with Cam Close

Part No. DOOR SWING LENGTH
9A7339 RH-IN, LH-OUT 57˝
9A7349 LH-IN, RH-OUT 57˝

14 Gauge - 1/4" Pin 
57" length 

with Spring Close

Part No. DOOR SWING LENGTH
9A7759 RH-IN LH-OUT 71-1/2˝
9A7769 LH-IN, RH-OUT 71-1/2"

16 Gauge - 1/8" Pin 
71-1/2" length 

with Spring Close

• Strengthen your Door • Provide More Privacy • Made of Stamped Stainless Steel •

1-1/2"

2-7/16"

1-1/2"

2-7/16"

1-1/2"

2-5/16"

1-1/2"

2-3/8"

2-3/8"

1-1/2"

Door Swing

Vault Hinge

Vault Hinge Set 
HEavy Duty Cast Stainless Steel
Part No. 9A7813 Use for 3/4" to 1" door
Part No. 9A7803 
Use For 1/2" Door - 1/2" Pilaster
Part No. 9A7853 
Use for 1/2"Door - 3/4" to 1" Pilaster

Hinge Set

Replacement Intergral 
Hinge Set 
Part No. 9A7005

NEXT


 D
AY

 D
EL

IV
ER

Y 
AV

AI
LA

BL
E

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are






Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

65

65
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

NEXT DAY DELIVERY AVAILABLE
T

O
IL

E
T

 P
A

R
T

IT
IO

N
 Har




d
w

are




Any Thickness Post 
1-1/2" Bet. Screws

Inswing use: 
Keeper - 
Part No. 9S2401J  Chrome 
and 
Stop: 
Part No. 9S2704 Chrome 
Part No. 9A5173 Cast SS

Outswing ONLY use: 
Part No. 9S2704 Chrome

Keeper Bumper 
For Outswing 
1-1/2" bet. screws 
Flat surface type
Part No. 9A5260 Chrome
Part No. 9A5263 Cast SS

Keeper Bumper 
Inswing or Outswing 
for Concealed Latch 
1-1/4" Post
Part No. 9K1152 Chrome

Keeper Bumper 
Inswing or Outswing 
for Concealed Latch 
1-1/4" Post

Part No. 9F0227 Chrome

Keeper Bumper 
For Outswing 
Flat Surface

Part No. 9A5640 Chrome 
Part No. 9A5643 Cast SS

Keeper Bumper 
For Inswing 
1-1/2" bet.screws

Keeper Bumper 
For Outswing 
1-1/2" bet.screws

Keeper Bumper
For Inswing and Outswing 
for Concealed Latch

Keeper Bumper 
For Inswing 
1-9/16" bet. screws 
Flat surface type
Part No. 90T116 Chrome
Part No. 9A5143 Cast SS

Keeper
STOP Keeper

STOP

Any Thickness Post 
1-1/2" Bet. Screws

Inswing use: 
Keeper - 
Part No. 9S2701 Chrome 
Part No. 9A5183 Cast SS 
and 
Stop: 
Part No. 9S2704 Chrome 
Part No. 9A5173 Cast SS

Outswing ONLY use: 
Part No. 9S2704 Chrome

Any Thickness Post 
1-7/8" Bet. Screws

Inswing use: 
Keeper - Part No. 9A7056 
and 
Stop - Part No. 9A7057

Outswing ONLY use: 
Part No. 9A7057

Part No. Post Size
Chrome Plated

9A5620 1"
9f0304 1-1/4"

CAst Stainless Steel
9A5623 1"
9A5113 1-1/4"

Part No. Post Size
Chrome Plated

9A5720 1"
9f0303 1-1/4"

CAst Stainless Steel
9A5723 1"
9A5213 1-1/4"

Part No. Post Size
Chrome Plated

9A5820 1"
9s410T 1-1/4"

CAst Stainless Steel
9A4903 3/4"
9A5823 1"
9A5343 1-1/4"

Part No. Post Size
Chrome Plated

9A5730 1"
92560E 1-1/4"

CAst Stainless Steel
9A5733 1"
9A5233 1-1/4"

Keeper STOP

Common Toilet Partition Hardware

Keeper Bumper 
For Inswing 
1-1/2" bet.screws

Keeper Bumper 
For Inswing 
1-1/2" bet. screws 
Flat surface type
Part No. 9A5985 Chrome
Part No. 9A5283 Cast SS

Keeper Bumper 
For Outswing 1-1/4" Post

Part No. 9G015E - Chrome

Keeper Bumper 
For Inswing 1-1/4" Post
Part No. 9G0151 - Chrome

Keeper Bumper 
For Outswing 1-1/4" Post
Part No. 9A5570 - Chrome
Part No. 9A5573 - Cast SS

Keeper Bumper 
For Inswing 1-1/4" Post

Part No. 9A5580 - Chrome
Part No. 9A5583 - Cast SS

Keeper Bumper 
For Inswing or Outswing 1-1/4" Post 
1/4" w x 3/4" h slot.

Part No. 90C410 - Chrome

Keeper Bumper 
For Inswing or Outswing 1-1/4" Post 
7/16" w x 3/4" h slot.

Part No. 92060B - Chrome
Part No. 9A5513 - Cast SS

Keeper Bumper 
For Outswing 
1-1/4" Post

Part No. 9A5970 Chrome 
Part No. 9A5973 Cast SS

Keeper Bumper 
For Inswing 
Flat Surface

Part No. 9A5990 Chrome 
Part No. 9A5653 Cast SS

Keeper Bumper 
For Inswing 
1-1/4" Post

Part No. 9A5980 Chrome 
Part No. 9A5983 Cast SS

Strike and Keepers for Square Edge Posts

Fasteners Included, Chrome Plated Zamac Unless Indicated

Strike and Keepers for Round Edge Posts

Fasteners Included, Chrome Plated Zamac Unless Indicated
Keeper Bumper 
For Inswing 1-1/4" Post
Part No. 9A5330 - Chrome

Keeper Bumper 
For Outswing 
1-1/2" bet. screws 
Flat surface type
Part No. 9A5240 Chrome
Part No. 9A5243 Cast SS 

Keeper Bumper  
For inswing 
For 1-1/4" Sq. Edge
Part No. 
9A2353 Chrome

Keeper Bumper  
For Outswing 
For 1-1/4" Sq. Edge
Part No. 
9A2354 Chrome

Keeper Bumper 
For Inswing or Outswing  1-1/4" Rnd. Post
Part No. 9A5590



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

66

66
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

Common Toilet Partition Hardware

floor Shoe 
For 1-1/4" x 1-1/4" Post
Part No. 9A1763

Floor Shoe 
For 1-3/4" x 1-3/4" Post
Part No. 9A0304

Square Edge Pilaster Shoe 
1-1/4" x 2", 3", 4", 5", 6", 7" 
8", 9", 10", 11", 12" & 14", 
16", 18", 20", 22", 24"
Part No. 9A0306

Split End
round Edge Pilaster Shoe 
One End Split for Easy Installation. 
1-1/4" x 2", 3", 4", 5", 6", 
7", 8", 10", 12", 18", 22" & 24"
Part No. 9A0308

Split End

End Plug  
For 1-1/2" x 1" 
Rectangular Tubing
Part No. 9A0666

End Plug 
Overall Size 1" X 2" 
Anti-grip Tubing
Part No. 9A0667

Two-Ear Bracket 
1-1/2" high x 3 1/2" Long 

"L" Type Partition Brace  - Stainless 
Steel, Floor  Mounted Unit supports 1/2" to 
1-1/2" thick panels. Height is adjustable. 
Part No. 9A6005 - Adjusts 11-1/2" to 14"
Part No. 9A85183 - Adjusts 9-1/2" to 12"
Part No. 9A85193 - Adjusts 7-1/2" to 10"

Bracket
For 1-1/4" Thick Headrail
Part No. 9A0213
For 1" Thick Headrail
Part No.	 9A0215

Part No. Thickness
9A1280 1"
9A1330 1-1/4"

Screen Bracket

Part No. Thickness Length
9AWB25 1 1/4" 6"
9AWB27 1" 12"

Single-Ear Bracket 
1-1/2" high x 3 1/2" Long 

Part No. Thickness
9A1270 1"
9A1310 1-1/4"

Alcove Clip 
1" Panel to 
1-1/4" Pilaster
Part No. 9A0155

Alcove Clip Sets 
(2 Per Set) Used to join 
Panel to Pilaster edge 
to edge. 4 Sets of Two 
required per Panel.
Part No. 9A8340

Two-Ear Bracket 
1-1/2" high x 2-1/2" Long

One-Ear Bracket 
1-1/2" high x 2-1/2" Long

“U” Bracket 
1-1/2" high x 1-3/8" Long

Angle Brackets 
1-3/4" x 1-3/4"
Part No. 9A0160 Panel/Pilaster

Part No. Thickness
9A0162 3/4"
9A0163 7/8"
9A0175 1"
9A0183 1-1/4"

Panel/Pilaster
Part No. Thickness
9A0164 3/4"
9A0165 7/8"
9A0176 1"
9A0184 1-1/4"

Panel/Pilaster
Part No. Thickness
9A0189 3/4"
9A0190 7/8"
9A0191 1"
9A0194 1-1/4"

Screen Bracket 
For Any thickness Screen 
1-1/2" high x 3-1/2" long 
Part No. 9A1320

3" High Brackets AVAILABLE  

URINAL SCREEN BRACKETS 
3-1/2" LONG Available

flexi-mount 
urinal screen bracket 
for 1/2" and 1" urinal screens. 
1-1/4" high x 3-1/2" long.

Part No. 9a2001 = 1" thick
Part No. 9a2000 = 1/2" thick

Part No. Thickness
9A2274 1"
9A2294 1-1/4"

One-Ear Bracket 
3" high x 2-3/4" Long

Part No. Thickness
9A1644 3/4"
9A1764 1"
9A1844 1-1/4"

One-Ear Bracket 
1-1/2" high x 2-3/4" Long

Part No. Thickness
9A2264 1"

two-Ear Bracket 
3" high x 2-3/4" Long

Part No. Thickness
9A1754 1"

Two-Ear Bracket 
1-1/2" high x 2-3/4" Long

Part No. Thickness
9A2304 1"

"U" Bracket 
3" high x 1-3/8" Long

Part No. Thickness
9A1914 1"

"U" Bracket 
1-1/2" high x 1-3/8" Long

Aluminium Brackets

Panel/Pilaster Brackets (Chrome Plated) Headrail Brackets

Urinal Screen Brackets (Chrome Plated)

Partition Brace

Pilaster Shoes 3" High (Stainless Steel)

Alcove Clip
For same thickness SS
2-5/8" X 1-1/2" 
Part No. 9A8369

Aluminum Square Post ONLY 
For 1-1/4" x 1-1/4" x 10'
Part No. 9A1762

Aluminum Square Post ONLY 
For 1-3/4" x 1-3/4" x 10'
Part No. 9A0303

NEXT


 D
AY

 D
EL

IV
ER

Y 
AV

AI
LA

BL
E

T
O

IL
E

T
 P

A
R

T
IT

IO
N

 Har



d

w
are




"U" Type Partition Brace  - Stainless 
Steel, Floor  Mounted Unit supports 1/2" to 
1-1/2" thick panels. Height is adjustable. 
Part No. 9A8503 - Adjusts 11-1/2" to 14"
Part No. 9A85083 - Adjusts 9-1/2" to 12"
Part No. 9A85093 - Adjusts 7-1/2" to 10"



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

67

67
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

NEXT DAY DELIVERY AVAILABLE
T

O
IL

E
T

 P
A

R
T

IT
IO

N
 Har




d
w

are




Part No. Thickness
9A1643 3/4"
9A1653 7/8"
9A1765 1"
9A1843 1-1/4"

ONE-Ear Bracket 
1-1/2" high x 2-1/2" Long

TWO-EAR Bracket 
1-1/2" high x 2-1/2" Long

Part No. Thickness
9A1623 3/4"
9A1633 7/8"
9A1753 1"
9A1833 1-1/4"

"U" Bracket 
1-1/2" high x 1-3/8" Long

Part No. Thickness
9A1893 3/4"
9A1903 7/8"
9A1913 1"

Aluminum "U" Bracket  1-3/8" Long

1" Panel/Screen
Height Part No.

54" 9A2794
57" 9A0191C

Aluminum One-Ear Bracket  2-3/4" Long

1" Panel/Screen
Height Part No.

54" 9A2878
57" 9A0176C

1-1/4" Pilaster/Screen
Height Part No.

57" 9A0184C

Aliminum Two-Ear Bracket  2-1/2" Long

1" Panel/Screen
Height Part No.

41" 9A2888
54" 9A2868
57" 9A0175C

Aluminum "L" Bracket  2-3/4" Long
Any PArtition

Height Part No.
57" 9A2684

1" Panel/Screen
Height Part No.

54" 9A2799
57" 9A2369

Stainless Steel "U" Bracket  1-3/8" Long

1" Panel/Screen
Height Part No.

41" 9A2609
54" 9A2869
57" 9A2349

Stainless Steel Two-Ear Bracket  2-1/2" Long

Common Toilet Partition Hardware

Stainless Steel One-Ear Bracket  2-3/4" Long

1" Panel/Screen
Height Part No.

54" 9A2879
57" 9A2339

1-1/4" Pilaster/Screen
Height Part No.

57" 9A2359

Cast Stainless Steel Brackets

Full Height Brackets

Aluminium Stamped Stainless Steel

Part No. Thickness
9A1649 3/4"
9A1659 7/8"
9A1769 1"
9A1849 1-1/4"

ONE-Ear Bracket 
1-1/2" high x 2-1/2" Long

TWO-EAR Bracket 
1-1/2" high x 2-1/2" Long

Part No. Thickness
9A1629 3/4"
9A1639 7/8"
9A1759 1"
9A1839 1-1/4"

"U" Bracket 
1-1/2" high x 1-1/2" Long

Part No. Thickness
9A1899 3/4"
9A1999 7/8"
9A1919 1"
9A1949 1-1/4"

One-Ear Hinged Bracket 
3" high x 2-1/2" Long

Part No. Thickness
9A1359 1"
9A1369 1-1/4"

Stamped Stainless Steel Brackets

Pilaster Anchor Pack 
For Plastic Laminate 
All Necessary Screws, 
Nuts and Anchors Included
Part No. 9A0310

For 1-1/4" & 1-1/8" 
thick and up to 6" 
wide Pilasters
Part No. 9A0309

Popular for 3/4" 
and thicker and up 
to 6" wide Pilasters
Part No. 9A1056

Very Popular
Number 
to Use

Pilaster 
Width Part No.

1 2" 9A07192
1 3, 4, 5, 6" 9A07193
2 7+" 9A07194

Pilaster Anchoring Device

3" High Brackets AVAILABLE — URINAL SCREEN BRACKETS 3-1/2" LONG Available

Aluminum "H" Bracket  1" Long

1" Panel/Screen
Height Part No.

54" 9A2858

Stainless Steel "H" Bracket  1" Long

1" Panel/Screen
Height Part No.

54" 9A2859



Robert Brooke & Associates • P.O.Box 2010 • Phone: 800-642-2403 • Fax: 800-642-2406 • www.robertbrooke.com

68

68
Copyright  © 2013 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.

S
A

F
E

T
Y

 M
IR

R
O

R
S

See around corners to eliminate dangerous blind hallways and intersections.
Heavy duty mounting bracket(s) 
are included for easy installation 
in most locations.

Light weight and virtually unbreakable.

Half-Dome Full-DomeQuarter-Domesize dia. area lbs. Part No.

half-dome 1800 1/2 18" up to 150 sq ft 4 km318

1/2 26" up to 200 sq ft 7 km326

full-dome 3600 — 18" up to 300 sq ft 6 km418

— 26" up to 400 sq ft 10 km426

quarter dome 900 1/4 18" up to 50 sq ft 3 km518

1/4 26" up to 75 sq ft 4 km526

dia. area lbs. Part No.
12" Small area 3 KM112

indoor spot Appl.
18" Up to 15' 5 km118
26" up to 20' 11 km126

heavy duty 18" up to 15' 5 km218
outdoor 26" Up to 20' 14 km226

30" up to 30' 16 km230

T-Bar Panoramic 
Designed for use in drop ceilings where the ultimate in visibility 
is required. No tools required, just remove ceiling tile and drop in 
the mirror. Great fit and finish!

T-Bar Panoramic 360 

PVT-BAR 2x2	 24" Dia.-Designed to mount in 2x2 T-Bar Ceiling        13lbs.

PVT-BAR 2x4	 24" Dia.-Designed to mount in 2x4 T-Bar Ceiling        17lbs.

Common Toilet Partition Hardware

Circular Convex Acrylic Mirrors

   Acrylic 1800, 3600 & 900 Domes

Door Pull 
2-3/4" between screws
Part No. 9A6203

Door Pull  – ADA 
3" high x 5-1/4" Long
Part No. 9A0625

Door Hook Stop
Inswing 
Mount on door
Part No. 9A4003

Door Stop 
Outswing 
Part No. 9A4123

Keeper - Inswing
1-7/8" between screws 
Use with Part No. 9A7057 
Part No. 9A6499 

Slide Latch
1-7/8" between screws 
1/8" bar to door clearance 
Works with all stamped stainless steel 
strike and keepers
Part No. 9A7055

Door Pull
5" between screws
Part No. 9A6419

Keeper - Inswing
1-7/8" between screws 
Use with Part No. 9A7057 
Part No. 9A7056 

Strike 
Inswing
Strike/Keeper Outswing 
1-7/8" between screws 
Use with Part No. 9A6499/9A7056 
Part No. 9A7057 

Door Hook/Stop 
Inswing 
5/8" wide x 2-3/4" 
projection 
Part No. 9A4009 

Strike/Keeper 
Inswing with TAB
1-7/8" between screws

Part No. Door Size
9A6469 3/4"

Part No. Door Size
9A6379 3/4"
9A6459 1"

Strike/Keeper - Outswing
1-7/8" between screws

Stamped Stainless Steel

Cast Stainless Steel

Dome & Convex Safety Mirrors

T-Bar Panoramic


